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FOREWORD

National Statistics Bureau (NSB) is pleased to release the Producer
Price Index (PPI) Bulletin for the fourth quarter (Oct-Dec), 2012. This

is the 3rd series of PPI bulletin published by the Bureau.

PPl is a measure of average price change over time in the prices re-
ceived by the domestic producer of goods and services. It measures
price change from producer’s perspective unlike the Consumer Price
Index (CPI) which measures the price change from the purchaser’s

perspective.

PPl for Bhutan covers logging, mining and quarrying, manufacturing,
utilities (electricity and water), transport and communication sectors.
It covers domestically produced goods and services destined for do-

mestic market as well as for export.

NSB would like to express our sincere gratitude to all government
agencies, private companies and corporations involved in providing
the data for the publication of this bulletin. We look forward to your

continued support and co-operation in future as well.

February 2013 National Statistics Bureau

Thimphu: Bhutan




Index percent change

Index point change 3.25
Divided by previous price index 101.25
Equals 0.032
Result multiplied by 100 0.032 x 100
Equals percent changes 3.2

Revision policy

If the data are not received on time from the sources for the release
of the bulletin, the index published for that particular quarter will be
marked as “Provisional” and it will be finalized when the next quarter

index is published.

Dissemination

PPI bulletin will be compiled and published on a quarterly basis. It will
be made available in hard copy as well as in soft copy through our

website (Www.nsg.gov.bt)
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HIGHLIGHTS

Year-on-Year Inflation

The year-on-year (YoY) inflation rate for the month of October,
November and December (2012) recorded 6.42%, 6.56% and
4.12% respectively. On average this is an increase of 5.70% from

the fourth quarter of the previous year (i.e. 2011).

The increase was due to overall increase in prices for all sectors,
except the water supply sector which remained the same through-
out. The logging sector recorded the same increase of 12.38% for
all the three months, while the Mining and Quarrying sector regis-
tered 5.90%, 5.10% and 4.76% for October, November and Decem-
ber respectively. The Manufacturing sector, which has the highest
share (weight) in the total output, and also the main contributor in

the overall inflation increased on average by 8.31%.

The increase in prices was also noted in the electricity, transport
and information and communication sector in all three months,
except in the month of October where the information and com-
munication sector registered a deflation by - 0.32% due to reduc-

tion in the call rates. (Refer table 1 for details).




Month-to-month Inflation

The monthly inflation rate in October (i.e. percentage change in PPI
between September and October), recorded 0.26%. This was brought
about by the Mining and Quarrying sector with 0.30%, and Manufac-
turing sector with 0.61% . Prices in the other sectors remained the

same, while the Transport sector recorded a decrease of -0.82%.

The overall increase of 0.44% for the month of November was contrib-
uted by increase in the prices of mining/quarrying, manufacturing and
transport sector with 0.17%, 0.79% and 0.91% respectively, while the

other sectors remained the same as the previous month.

However, the overall PPl saw a decrease in December by -0.22%, as a
result of decrease in the prices of goods and services in the mining/
quarrying by - 0.03%, manufacturing by - 0.38% and transport sector
by - 0.66% respectively. The decrease in prices was mainly due to low

demand during winter season.

The fluctuation in the prices of the transport sector is caused mainly
due to fluctuation in the exchange rate of the US dollar against the

Ngultrum.

Index calculation methodology

Geometric modified laspeyre’s formula is used for calculating the

index.

Uses of PPI
1. As deflator in national accounts to estimate the real growth rate
2. Lead indicator of inflationary trends

3. Indexation of cost escalation in long term contract of goods and

services
4. Business analysis
5. Current cost accounting
Calculating index changes

Movement of price index from one month to another are usually ex-
pressed in terms of percent changes, rather than as changes in index
points. Index points changers are affected by the level of the index in
relation to its base period, whereas percent changes are not. The fol-
lowing example shows the computation of index point and percent
changes.

Index point change
Total price index 104.50
Less previous price index 101.25

Equals index point change 3.25
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Technical Note
Definition

PPl is the measure of average price change over time in the prices
received by the domestic producer of goods and services. It shows
the average change in the prices of goods and services with reference
to particular reference period known as index reference.

Scope and Coverage

PPI covers domestic produced goods and services that are destined
for domestic as well as export market. The sectors included are log-
ging, mining and quarrying, manufacturing, utilities (electricity and
water), transport and communication sectors. PPl is compiled using
economic activity classification (ISIC rev. 4) and also by product classi-
fication (CPC ver. 2).

Weights

Weights denote the significance or relative importance of each lower
level or sub-groups to the total. PPl weights are developed using the
total sales turnover from the establishment census 2010 by the Minis-
try of Labor and Human Resource and also the data collected from
individual establishments by NSB.

Index reference

The index reference is a point in time used as reference point for
comparison with other period. Index reference for the calculation of
PPl is September, 2011 which is normally set as 100.
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Annual and monthly PPI and inflation by Industry

Table 1
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